(BIAL)
HF & B8  H &

(F% 1 2 BED 3)

(F%¥E1385iEN2—-12,35,40H)

(A1 3BED 2 —13, 27, 31, 38 H)

5%
(16/45)



4. ANHE—Z I

(FZE 13 BEED 2 —4,9,12,31,35,38,40,43,45 H)

(A% 13 B3ED 2—2,31,38 H)

(BE 13 B3ED 2 —8,16,40,4 9 H)

53

19
(17/45)



T. ZANT 5w BF =N

(HE1 35D 2 —7, 8, 27, 31, 38 H)

(FHE 13 FFFED 2—35, 45, 50 H)

9. AN TTD

(FE135ED 2 —52, 54 H)

59
(18/45)



1L 0. 422 FIOA

(& 13 BEED 2—52, 56 H)

60
(19/45)



(AAK)

K & E kK HEEE LK & B K

S

1. R —(REER

Noy— (BE) 285w
DS —Aw RROF R (k- - /) (17)(18)(22)

61
(20/45)



(34)(35)

®
-
L
A
Ly b=
INZ
et

62

(21/45)



2. TIVRyo (REERR

TRy y (BE) 2E->kHEERS
@ TIWRyZAY RXRIF R (K- (20)(21)(23)

63
(22/45)



@Fr—=3 JTIESZ Q)

64
(23/45)



@I IF—— T4 X AH) - X—FIU T (62)

®OUxLy bFz—2—TFvIF—/—« AN LTF—=1U T (64)

65
(24/45)



@TINWEY I T4 ANE—F—NIVT H— (1) (48)

@4 N—bF—)8—Z ) (3) (50)
@ANNT Ty R «F=)N) T4 X+ 224 (4) (51)

66
(25/45)



3. 917> (REEE

A4 (BE) 2o HEEn
DA F Ay RROF U (K- /h) (14)(15)(16)

“EF-TLP

67
(26/45)



®@TFLVAVLYy h=F144>  (38)39)

e R e e
-— e = et i B S

@F—F—N—/ABNT Ty BF—=INI—=T 5T « F—)%— -

(43)

68
(27/45)



B F- LA b =i

Rp—T « F—N——X= RIS F U 2 Fr—2c (6])

69
(28/45)



4. Ny E—ZANIVEERER)

NV E—ZAA) (BFE) 2o REmH
QAANRIET > (K" -
ANy BRI B B, 4 BORANTIT— (4, 2) (24)(25)(26)(27)




NUTIWZAANETTH—  (8)

AHN T RO—F— 1), XANT4 XZ—F Q), AAN T4 A9 DAA—N
W 3), ZAANT 4 ZAAANT Ty R 4) (28)(29)(30)(31)

JOR - F—N)+AA)N  (10)
[(BEERL (F704H®D3)]

71
(30/45)



